GENERAL SCIENCE SAMPLE PAPER / MOST IMP QUESTIONS

1. The refractive index of liquid A is 1.47. What does this mean?/gd A &l 3Yacieles 1.47 %‘I
SR FIAT A9y g?

a) The speed of light in liquid A is reduced by 1.47 times the speed of light in vacuum./ga@ A & 9ehrer
1 e, T & gerer T T @ 1.47 T HA & S

b) The speed of light in liquid A is 1.47 times the speed of light in water./ga@ A& Y12l $r darel, STl H
ehTel T ATl | 1.47 T 3R gl B

c) The speed of light in liquid A is 1.47 times the speed of light in water./g@ A& YTl &I dTel, STol H
eIl T ATl ¥ 1.47 T §¢ STl &

d) The speed of light in liquid A is 1.47 times the speed of light in air./ga A YehIl & a1l arg &
SehTel T ATl | 1.47 I[N 318 gieh &

2. How many elements are there in the seventh period of the modern periodic table?/m%lﬁlﬁ 3Mad

ol & @rad 3ad # fhde dca gla &2
a) 2
b) 32
c) 18
d) 8

3. A bulb draws a power of 35 W when connected to a 12V supply. What is the power consumed by it if
it is connected to a 6V supply?/ 12V & 3Mqfdd & FAIT T S R T dod 35 W T AfFdaSd
T &1 IS 38 6V i & FASIT fhar v, A 3HS gaRT 3ugFd AfFT fheeh grefr?

a) 24w

b) 12W

c) 9w

d) ew

V‘Z
R
vz

P

122

3

==V
|

__ 144 _
5 — 35 — 4ohm

Now at 6V supply,
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Therefore the power consumed is 9W.

4. If the incident ray then the reflected ray will pass through the principal
focus?/afe 3mafaa feor ar Rrafda T fea wied & ga Jorer?

a. Parallel to the principal axis of the concave mirror/37adel gquT & qTY 3187 F AR §
b. Passing through C of the convex mirror/3de 40T & C¥ gl IR T &
c. Parallel to the principal axis of the convex mirror/3del UUT & HEF 376 & FHEIKR &
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d. Incident at the pole of a plane mirror/THde UuT & ga W 3mafad gl

5. In an electric circuit, if power, voltage and resistance are represented by P, V and R respectively, then
what will be the correct relation between them?/Ueh fdegd gRuy & Ifg ufed sleest 3R FicRIer &r
AT PV AR REEaRT 2T ST §, dl 3o &g &l §e1 daY Hied AT gHEM?

a) P=VR

b) P=VR?

c) P=VY/R?

d) P=V¥R

6. Which of the following compounds is formed when lead nitrate is mixed with potassium iodide?/ei3
ATSee H GICRITHA A™IEES & AT Folld W 547 T il @1 e Fe1ar g2

a) Lead carbide/ds FIEEs

b) Lead iodide/dis 3TASES

c) Lead nitride/ o3 =TScISs

d) Lead oxide/ds 3fFdTSS

7. When an object is placed at the centre of curvature of a concave mirror, where will the image be
formed?/ fonell ‘G @I 3adel GUUT & Thell g T W ST &, GidTed &gl T a=9mm?

a) Principal focus/ H&T Bihd

b) Behind the mirror/gdoT & W

c) Infinity/31d

d) Centre of curvature/ashdr g

8. Why is carbon monoxide an air pollutant? / Teiel H3TFATSS Teh aTg Ty FAT §?

a) Because it gets converted into carbon dioxide. / FIifF Tg FHraeT §I'$’3ﬁ?ﬂ13§ # gRafda &
ST &1

b) Because it is present in vehicle exhaust. /FIifh T daEdT ¥ AFaa are TISlEe (3cqoi) &
IS g &

c) Because it can destroy RBCs. /&difdh T REIET (RBCs) T ASC HT ThdT gl

d) Because it reduces the oxygen-carrying capacity of the blood. /F3ife Ig IFd Fr dadielT o
ST Y &THAT T FH X ST B

9. In which year was MendeleeV's periodic table published in a German journal? /Hseli% $r 3ad
Hﬂﬁtﬁﬂraimﬁamﬂqﬁ$Tﬁsﬁﬁ%H§éﬁT?

a) 1852

b) 1862

c) 1892

d) 1872
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10. What happens when quicklime reacts vigorously with water? /T gldT § 39 AT T, STel &
Y georar & JfAfRar Hiar g2

a) Exothermic reaction/3saTedY 31fATHAT

b) Displacement reaction/faTamasT 3fAfshar

c) Double displacement reaction/ gfafararast f&AfeRar

d) Dissociation reaction/faatster 1fATHaT

11. Complete the given homologous series of alcohols by choosing the correct option. /8T fd&ed T

T F Uoehlglell ST & IS FASTHT A0 &l qut RS
CH30H, C;Hs0H, , C4aH9OH

a) CsHloOH

b) CsH;OH

C) C5H120H

d) CsHeOH

12. When zinc particles react with dilute sulphuric acid, a colourless gas is produced which burns with./

S i & FUT, A ToFIRF 3el F T ARRA F & & 0 T I 3T N § AN &
Ty el gl
a. Pop sound/dra eafer
b. Red flame/aTer TT Fr ot
Green flame/gdr <t
Yellow flame/ dreit @it

a o

13. When light rays having wavelengths 4500A, 5400A and 6000A respectively pass through a prism, the
angle will be./ST& $#2r: 4500A, 5400A 31 6000A dWICET arelr Yahrel faol teh fOed & gl

IR g, dr T |
a) Equalin all/ast & SRI&RX
b) more in light of 4500A/ 4500A & YerTar H 3
c) more in light of 5400A/ 5400A & Y&hrer H 318
d) more in light of 6000A/ 6000A & Uehrer H 37T&h

14. Where can a tall tree store its waste products?/ Teh oieT g&T 39al 3AfIse 3cUrel i gl HIET
F HhT 82

a. Inold xylem (heartwood)/qRTel STSed (§1¢qs) H

b. In old roots/qRr=T SisT &

c. Inintercellular spaces/3TcRepITARIT RTAT &

a) dIn bark tissue/STeT & Fdd H

15. Select the correct answer considering the following statements. /i< el W TOR §U e
3 FH T HITATY
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Statement-I: Metals at the top of the reactivity series are not reactive. / &¥s1-1: JfATparferar Sofr &
Taw R e arqu sl 78 e &
Statement-Il: Metals at the top of the reactivity series can be obtained by heating their compounds with

carbon. /&Y-I1: JITATHATACAT Ao & Fo8 IR &I UIU, 3odh AMART AT HIeeT o AT T Hlel
W gred I ST T B
a. Statement | is true, and Statement Il is false. /&2 T §, 3 FUT 11 379<T Bl
b. Both the statements are false. /alsil U T gl
Both the statements are true. /&l HUF TcT ¢l
d. Statement | is true, and Statement Il is false. /& | T &, 3R FUT 39T &l

o

16. When the magnetic field lines are denser in a magnetic field, the presence of which of the following
is indicated? / STef IGhIT &1F o 31T A IS ol YWV TS FoA glehl g, al Ae=faf@ga & 4
fradhr 3ufFafa gfira & &2

a) Only South Magnetic Pole/ahdel Efeol Jahrar ¢a

b) Only North Magnetic Pole/shde 3tRl Y Yo

c) Weak magnetic field/geel e &

d) Strong magnetic field/Jeel IahT &1

17. The magnetic field lines on a current carrying straight conductor will always be /TR
YRTETET WY AMeieh R Gahr &1 3@ Jea el

a) Parallel to the direction of current/SIRT T & & AR

b) Intersecting/TRER UfdTde §§

c) Perpendicular to the direction of current/€TRT &r & & o&ad

d) Parallel to the length of the conductor/aTele $I TS & FHAAER

18. The respiratory rate of aquatic organisms is much faster than that of terrestrial organisms. Why?
/ST a1 eaae X Ty Sl Y eaHA X H JerAr H qga ot @il gl A

a) Due to high amount of 02 in water/STel & 02 &7 AT 3186 gl & HROT

b) Due to low amount of 02 in water/3TeT & 02 &I HET &H gl & HRUT

c) Due to low amount of CO2 in water/ STl & CO2 T HMET HH gled & HROT

d) Due to water pollution/STel & Jei¥d &l & HROT

19. Which of the following is an example of greenhouse gas?/ a1 & & Hia @1 AT 839 AT F1 H
3eTeRT &7

a) Carbon dioxide/FIe SIS3TFASS

b) Phosphorus pentoxide/®IEPRY YelFarss

c¢) Sulfur dioxide/TeHT STSHTFASS

d) Carbon monoxide/aTesT AANTFASS
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20. Which statement about Mendeleev's periodic table is incorrect?/&Hgel® #T AT IROT & IR &
P TT FUAT AT &7

a. The elements are arranged in the order of their increasing atomic masses/dcal &I 3% qod g
UIAIY] A & HA A cgafedd faar S B

b. The vertical columns are called ‘groups'./ﬁﬁ‘fﬂ? T Y HHg' el Sirar gl

c. The horizontal rows are called 'periods'./&ifast afedat &t '3ad Fer 4T gl

d. The properties of the elements are periodic functions of their atomic numbers./dcar & :gmmfr 3%

URATY] AT & TG Bl Bl &

21. Which cell organelle detoxifies toxins and drugs?/alsT &T SIfRAHT 3797 fawrerd gerat 3R eanit «r
gy e &2

a. Ribosomes/IrsaraA

b. Mitochondria/ATSc I =gaT

c. Golgi bodies/aMelT o

d. Endoplasmic reticulum/TsIcaTicas ’{ﬁ‘i—mﬂ

e Smooth Endoplasmic Reticulum plays an important role in detoxifying cell organelles,

toxins, and drugs/ﬁ%ﬁ 3idgedr Sforepr (Smooth Endoplasmic Reticulum) ITRIRT
379Teh, fawTereT geredf 3R gansit @ fawaed aa & e fAwT fHemer @

22. An object is placed at a distance of 30 cm in front of a concave mirror of focal length 15 cm. The

imageformedis:/WH?—T:)fHﬁlSWW@WWW%W%W@E@WT@T
IRT §| AT aTell BT &

a. virtual and inverted
b. real and inverted

c. virtual and erect

d. real and erect

I 1
= -t -

1
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v 30 30
v 30
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The image is real, inverted, and the same size as the object, formed at a distance of 30cm in front
of the mirror.
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23. Which of the following is NOT a main site of transpiration?/fele=t & & leT AT asUlcHST & HET
T AL 8?

a. Cuticle/Fgfeshel

b. Stomata/THer

c. Intracellular spaces/3Td:shITRIART TAT

d. Lenticels/dfeahed

24. An electric device draws a current of 5 A when connected to a 220 V supply. The power of the

electric device is:/Teh Irac\gd 3YehI0T 220 V &l HTq‘ﬁ q ng?f T 5 AF OgRT diar %’I

faegd 3uehtoT & ATFd &
a. 1.1 kW

b. 0.44 kW

c. 110 W

d. 440 W

P=Vx/

Where:

‘P’is the power (in watts, W),
‘V’is the voltage (in volts, V),
‘I'is the current (in amperes, A)

Now, substitute the values into the formula:
P=220Vx 5A= 1100W
To convert watts (W) to kilowatts (kW), you divide the power in watts by 1000:

So, for 1100 W=
1100w

1000
10001100W = 1.1kW

25.Which of the following is the correct set of raw materials for washing soda preparation? / CNRE)

AT AR FA & T Fed AT FT oY A FAFIa@d & F ST ar &2

a. NaCl, NH3, NaOH3
b. NaCl, CO,

c¢. NaCl and H,O

d. NaCl, NHs, CO»

Reaction: NaCl + NH3 + H20 + CO2 ------ > NaHCO3 + NH4CI (Baking soda.)



